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ACCOUNTING

Paper : BCM0400204

~ (Cost Accounting)
Full Marks : 60
Time : 2% hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Answer as directed : 1x8=8
| o SRR el il g
(i) Fixed cost per unit with increase

in output. (Choose the correct option)
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(@)

(iii)
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(c) does not change
AR T2
(d) None of the above

ST (IR 727

Which of the following is not a
technique of costing ?
O (PINC! I iR e e
(@) Marginal costing
AR
(b) Standard costing'-'/
PR
(c) Multiple costii'fig
=R T
(d) Absorption costing :

&I DI
(Choose the correct option)

Cibs Cewti! 71 Ghaa)
Define ‘Works Cost’.
P T gt B

(iv) Cost of abnormal idle time is
transferred to costing Profit & Loss
Alc. (State True or False)

T ST FoT Gl AT §ile
@ RpiTe TRYE T4 77 |
(1] &1y 51T )

(v) A total of all direct costs is known as
(Fill in the blank)

A AOTF ARA P WOT I R
|

6
(vi) What is Job Card ?!.é}’
FAg e

(vii) What is cost centre
R (F N 2

(viii) When the completion stage of contract

-is less than -}f, the total expenditure

on the contract is transferred to
Account. (Fill in the blank)

S B! e 37)for #ifFtiel up-vodiciers
T 2, (SO 5 eitel ZmigRe
&4 =7 | (0T HZ 999 )
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2. Answer the following : (any six) :
: 2%6=12

WAWW@@’M:(W w51)

() Mention the distinctions between
‘costing’ and ‘cost accounting’.

-~ T T fRbiot (T o Beoliv g

Coilege {4

AR IS SR R R P elvie S

ﬁ,\ft is meant by allocation and
fortionment of overheads ?

HoTH T I OIS e i [ qm e

\G}DUEUV * \\‘{’-‘

(u7) State the differences between fixed
expenses and variable expenses.

28 1 i RIS 7w Ao Al
ferat |

(iv) What are the objectiveé of process
costing ?

A Rplee Sompng R

(v) What is the need of reconciliation of
cost and financial accounting ?

Gl T Ryl ‘mﬁ@a f2pisg Fieae
TG 17! G101 35 |
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(vi) A Ltd. has got a demand of its product
as 10,000 units per year. The cost per.
unit is T2 and it costs T 36 to place an
order. The inventory carrying cost is

- estimated at 9% of cost per unit.
Determine the economic order quantity.

A TEIGE Sesime 41 w9 AR vifem
i, 10,000 TG | AT TG TerAiTe 2 5
/S5 N oS TS S R A9 36 B 295

‘ A2\ SRR o I S TFF 9%. G3RMA
R SR P woe AREe R

TSI SRR R e 2
(viii) What is stores ledger?

i fZo1el 93] Jere 6 e e

(ix) State fwoimportant features of contract
costing.

il 23 fepivia 707 e CIIg) SrEd |

(x) Write the meaning of job costing.

Tfefes Germ A o Tl |
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Answer the following questions : (any four)

5x4=20

mﬂ%mmﬁwww (R if<oY)

¥

(@)

(iii)

(i)

(v)
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Write the advantages of integral
accounting.

w\a@ﬁmﬂwq%ﬁﬁﬁﬁwﬁmW|

What is machine hour rate ? How is it
calculated ?

: m@a‘s‘a@?m%?mﬁw (T 91 27 2

Explain the FIFO and LIFO methods of
pricing materials.

AN T =S Boieet R ( (FIFO) ST

e’ (LIFO) %o YOI REea it 1 |

How is profit on incomplete contracts

recognised in the books of a
contractor ?

Wﬁ%ﬁﬁr—%ﬁm@—mﬂﬁf—@

9 272

What is the purpose of a time and
motion study in Iabour cost control ?

(vi) Rashmit Electronics Ltd. furnishes the

following information :

o SRS FIRGS QA @ SR

oo G Q29 2

Opening stock : Raw material

wiTEld e g (HIE
Finished goods
o Ty

Closing stock Raw material

' Finished goods

oaFo Ty

Raw material purchased

Wages paid to labourers__

e g

Rent and taxes

e oy 59

Power

I .

Office management salary

BO6FN 0037 7

5,000
4,006
4,000
5,000
50,000
20,000
7,400
3,000

4,000
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Office printing and statiohary 200 .
JIGITT Floier-oTg AN |

Experimental charges i 600
T 2T

Bank charges* 300
(T 490

Salaries to salesmen/& . A/ r 2,000
Sales 1,00,000
Rt

Prepare Cost sheet.

@QWW@@@@QH

(vii) A company has four departments. The
actual costs for a period are given
below. Apportion the costs to the

various departments by the most
. equitable method.

0 (AT SR R wwi < R
@WWW@W%%@WW@
41 |
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‘ Rent (S%)

" Power (¥if&)

Repairs  (GREN®) ~¢
Supervision
Insurance (M)

(viii) Explain the concept of ABC analysis

Answer the following : (any two)

as a technique of inventory control.

T+ s Ao it ABC ResEe
R |

10x2=20

wmwwms(mgﬁ)

)
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. is
considered normal. There

A product passes through t“fo
‘A and B. A loss of 5% 1'n
in process B is
no value

0
of scrap. During January, 2024, 10,0(})C
units of materials, costing ¥ 12 per kg

in- A.
were introduced in process

processes
0,
process A and 2%
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Material ffc .

o

(PO

S

Overhead

Qﬁ%@ﬁWﬁW@TMAWBE
TEE I8 20| Afesql AS 5% i Al
B-S 2% 7F© FelRF 31 o147 91 771 3038
e Gl WEe dfEF A-© so,000 (sifta
GFO! AR, TH 53 Tl oS RFal-© ae
9 = |

The other costs are as follows -

X Process B

; ] % " .1,-'/ :!
Labour 20, & 45 000

JE"'\

~Jueuy X

112,000 9.200

Sl T

Output

T

9,300 units 9,200 units

grepare the process account of A and
band also determine the value of
abnormal loss or abnormal gain, if any

A SI% B3 &lfdl el efge w1 | w1

SISl o I SR e, 1 ey
e 3=t | \
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(i) What do you mean by labour cost

control ? Calculate the earning of a
worker from the following informations :

(a) Time rate method
(b) Piece rate method
(c) Halsey plan method

(d) Rowan plan method
Staﬁdard time = 48 hours
Time taken = 40 hours '

Rate per hour 210 plus decreases
allowance @ ¥ 2 per hour worked.

w2 et 3Tt & et 2 ©eTe il SUpTRs
o] ®fEREY BolfeiaPTR oWl T 8

(@) 2 AT O

(b) T3 TS TGR LA A

() = e S TS

(d) @R el Sivf Jco

S TR = 48 T
m%mw=4oww |
ﬁﬂ%WlOWWﬁWQWWﬁm
2l -
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(iii) Explain how would you treat the
following items in cost accounts :
2+2+3+3=10
=S oy S JTTE Besiva 7 fZpiors
@EWE TS PRl A T4 3
(@) Bad debts | :
sifiCty w=l 2
(b) Market research cost /Q‘sﬂt:&@
@I el <8 '- \
(c) Advertisement i

REEi7e 3

(d) Interest on cap1ta1
Tl

(itv) How does cost éccountlng help in the
planning and control of operations of a
business enterprise ?

TR AfSoig sAfpem s Fagae S
T RO @R e T

[

(v) What is job evaluation and merit

rating? How do they help in labour
cost contro] ?

WW\WWC‘@?@%\@W@{%{@T? ‘
AR & < R R s w2

o R
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